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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BYiE) | GEBATIK () | EBE (EA/#) | EREE(B/R) | XS ERE

08:35 278 150.0 2. 888 RS FiHAe08:35 KREFEF (KREERHSE)
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P3-12

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERR
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AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) XS ERR
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23t 2264.0 (8%) 1200.0 32 HE%KEC: 2200, PH: 5.6

TERRHLER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (254:81.0), set to 254 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FH[EKECE (1803.0 vs 3590.0) id 5
FREVEIN S K KEC 2200. 0

153.0), AlEEHT—@ L XA HS
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21t 4245.0 (15)%) 2250. 0 32 FE%KEC: 2190, PH: 5.8

WERRNEREEFEEART (184.0 : 153.0), AgEHF—@E XAH5
ZRIALBRIERE153.0 ml.

WREY S RFRPH 5. 77, B THERHAZIFESIAIEPH, 5F A%
HEEIHECE (1847.0 vs 3873.0) 5

FREVRIN S K IKEC 2194.0
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P3-12

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS ERR
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07:55 283 150.0 2. 888 BE| 1Ri%e07:55 B3 (REERESE)
08:35 283 150.0 2. 888 BE| {Ri&e08:35 Bl (REEEE)
09:15 283 150.0 2.888 RSl Ri&e09:15 BHal (REAEHE)
10:15 283 150.0 2.888 BS| 1Ri%e10:15 Bz CGGREMEESE)
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11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
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16:20 283 150.0 2.888 S| Ri%016:20 Bz (REAERESE)
17:15 283 150.0 2. 888 BE| Ri%e17:15 B GGRE{EREE)
21t 4245.0 (15)%) 2250. 0 32 03%EC: 2130, PH: 5.8

FEREHEME STEAEARST (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (329:69.0), set to 329 ml.
WEVEY S R EPH 5. 77, BTN AZEFEINBIEPH, 15F AR
BE[EIRECE (1887.0 vs 4103.0) T 5

HEEZ NS RFHIREC 2126.0
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T T T T T T
675 680 685 715 720 725
m=825,m FV0=0 m=855,m FV0=0
—o— MW —— MW
471 48.0 -
46 -
47.5 -
45 -
47.0 4
44 -
46.5
43 -
825 830 835 860 862 864 866 868
m=960,m FV0=0 m=1030m FVO=0
49
—o— MW —— M
497 48 -
48 - 47
47 1 46
46 - 45 -
960 965 970 1030 1035 1040




